EARAROBEEIERT — 2 N— IBISH —F

20185F6H 150 (&) 5SEI%HM4HE

Gl AN B =AMt E C4 YR (w8 | mEmml - |5 5) o 8
[AE4£] 17%&:180,000  ~ 2#&:42,000” ~ 33%&:18,000 M . 43%&:13,000 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
I S s 4 | EHRE 1:29.6 2-2-1-1 [38.2| — 5 468 | FRILZEHE (55H2)
1(g|g|TT¥>7R—-7 54.0 fon © E) J PN
R:I-Y>747—-F B:I-YrI—1-— RAERS
RS 4 | RINAR 1:29.7 4-4-4-2 | 37.8| — 4 461 | DIEE=AR (56HA)
2 3 TJL>RKATZ i 54.0 (1/2) +2) HERERBA :
g AFS 0 ML BT RIAYF1T e g
= 44 | BHEN 1:30.0 6-6-6-7 |37.8| — 2 508 | AAIEBSEA (S5HR)
3177 FZX hOA 56.0 (11/2) (-5) FEREE
L:¥xrinMo—- B:x—-Fv¥x— BA Bk
s o4 | ARES 1:30.2 3-3-3-5 [38.5| — 6 394 | BATRA (1)
4l8lg|B>/2UA 54.0 (3/4) +3) ") m-zr7
LA R—3ITR—L BTALINLY GSARML—ZFthrs—
- it 6 | fEEERA 1:30.3 7-9-8-8 | 37.8| — 9 409 | BETRA (5£42)
EH 6| T—AT 1> 54.0 (1/2) o) ") m-zp7
LA R=3ITR—L BIATUNLZIHAZ A—L— - Tp/N - 77— LARE
S B4 | KFHE 1:30.4 9-8-5-4 |38.4| — 1 440 | REER— (5H)
61111 YT a8 54.0 (1/2) (+6) (@) J PN?;E?T
L:g2—RILRIIL BEY /TN IR
N . N KEFH : —7-8- - HEZE (5#)
7 o| YHTIYyTa # 5 ;6_0 1.(310>.6 7-7-8-9 | 38.0 3 gs) i A
R:2v— MR- B:Fo¥L /U3 EOSE
— — ess #EEZ : 57— — KEFEK (FH)
8l5l5| 7o y—=7% i 5 sl 1.(310).8 5-5-7-6 | 38.6 8 ?:321) g A
R:BALINT Ry IR BT IHAHNRT L — Xk — 2445
N . b A TE :31. -1-2- . — ABEL (BEE)
9 4 INSHIITF o> 4 5 *531_36% 1 (321)2 1-1-2-3 | 39.7 7 zzg? ) N
=) H—- B:¥o~v #REt RUMI 77 —4
® I—F—@EBIERL
15l=2F= 4,8,9,3,5,7,(2,6) ,1
Ao=5"= 4,8,9,3,5,7,2,1,6
33—7F— |8,4,9,3,1,7,5,(2,6)
41—F— 8,3,4,1,9,5,7,6,2
[ N5
B 8 1,210M 794K 3-8 1,130 & 3-8 3,030 &R 3-7-8 4,330
# B 8 210H 7-8 400 B E 3-8 6,480 EE 8-3-7 44,5304
3 220/ 3-7 550M B H 8-3 12,090M
7 1509

ABICOVWTRDTEEERROODE. TR LIV,




